Trigonometric Identities .@

Exercise 10.4 for Class Xl Page- |
Question # 1 Express the following products as sums or differences:

(i) 2sin3f8cosd °
(i1) 2cos58cos36 C fbb

(i) sin5@cos26 Q
(iv) 2sin78sin26 O

(v) cos(x+ y)sin(x—y) i
(vi) cos(2x+307) cos(2x—30°) @\o

(vil) sinl2 sin46°
(viil) sin (x +457) sin (x —457) @

Question # 2 Express the following sum or @ce as product:
(i) sinS56+sin36

(i1} sin8f —sin46 \\Q
O

(iii) cos68+cos3b

(iv) cos78—cos 99
(v) cosl2" +
(vi) sin(x+ @ sin(x—307)

Question #3 Prove the Tollowing identities:

@cosi%x +cos2x L
. g b B
s (i11) w =cot [MJ tan ( e ﬁj
E sin & + sin 3 2 2
ion# 4 Prove that:
(1) cos20” +cos100” +cosl40’ =0

(i1) sin (%— 6>Sin (% + 9) = %cos 260

... SIN@ +5sin38 +sinS568+sin76
(i11) =tan46¢
cos@ +cos38 +cosS58 +cos78

Question # 5 Prove that:
(1) cos20" cos40” cos60” cos8(0" = %
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(i1) sin—sin—sin —sin— =—
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